202149 592 )} 24JIA s sxHl+x
o4 =] Hof : 1237
O A85d4a FEE5M)

] TES- B>

e T A% : A g& o9
3]k 19.731
= 19.926
7 20.090
B-A% 20.440
B-B- 20.900
B-C 21.249
g} 19.083
A5 A 19.128
(16) 82 G(UET-AD 19.956
ol B E 21.473
e 26.192
1A S8 19.897

AgAs 2AARS 15 | CO,MZEAS | 20165 t C/TJ

2571) BHARG 25 21.877
=2 HLPGlE) 17.630
REeHLPG35) 18.094
7} 2(LNG) 15.281
g (}3)& % A7} <(LNG) 15.236
= A7} 2(LPG) 17.453
T FAE 29.705
TUFIAHAEER) 27.320
X e FQEARHI B 8) 28.990
) FAEH AT L) 26.105
G YR ) 25.349
ohed g 26.868




S AEE AL AR S5 WAL e 28
A% 2 SE77
=
AR 47 km/h ~ 114.2 km/h
=3
o3
28 47 km/h ~ 114.2 km/h
] %3 4.58 km/h ~ 94.8 km/h
S3AE A
e AA 3 4.6 km/h ~ 95.5 km/h
° A 4.6 km/h ~ 47.3 km/h
28 4.7 km/h ~ 114.2 km/h
}EAES} %3 472 km/h ~ 94.76 km/h
o & 4.6 km/h ~ 95.5 km/h
¥ AAFHA Ee AlF F AEF-AdE7F 5L AF5Ae FRYE FEo| e Ao A9
TR FY AE AR ABEL A4



D CO, Wi&A < : 447

CO; HilEA <

3E e :
(y: wl&®Hg/km), x: XI&(km/h))
65.4km/h 12k |y = 106517225
A
65.4km/h o] |y = 0.0225¢ - 33075x + 212.8460
733
65.4km/h w =k |y = 989.9413x "%
LPG
65.4km/h o] |y = 0.0172¢ - 2.3601x + 167.3842
65.4km/h w]EF |y = 1256,0382x
s
65.4km/h o] |y = 0,0252¢ - 37270x + 245.9051
65.4km/h w]EF |y = 1037.397405%
o
65.4km/h o] |y = 0.0133¢ - 1.3612x + 129.4859
65.4km/h Tk |y = 1223.8670x°%6
LPG
65.4km/h o] |y = 0.0188¢ - 27902x + 203.7804
65.4km/h | gk |y = 1446.3728¢"5%
1A3b S
cmos| 2 65.4km/h o] |y = 0.0343¢ - 5.4212x + 339.8479
447) 65.4km/h =%} |y = 115356855
A
65.4km/h o4 |y = 0.0226¢ - 3.0857x + 25,8304
54
65.4km/h |2k |y = 1513810457
LPG
65.4km/h o)A |y = 0.0245¢ - 3.6654x + 257.7428
65.4km/h Tk |y = 211.9807 %1
HEV
65.4km/h o] |y = 0.0205¢ - 2.8635% + 190.4598
65.4km/h | Tk |y = 2022,66045°6
SR
65.4km/h o] |y = 0.0374¢ - 5.9783x + 385.8791
0 65.4km/h |2k |y = 1149220655
724
65.4km/h o] |y = 0.0246¢ - 3.3168x + 239.5643
LPG | 65.4km/h ©]gk |y = 1967.2719x°%%




CO, ¥l &A

2E 3= i
(y: ¥l&3Hg/km), x: XF(km/h)
65.4km/h y = 0.0295%° - 4.6079x + 301.8248
65.4km/h y = 522.2199x %%
HEV
65.4km/h y = 0.0164x° - 2.1338x + 176.8101
65.4km/h y = 1656.7736x %
73
65.4km/h y = 0.0137%* - 1.3681x + 180.5588
£
65.4km/h y = 1732.5734x 5%
LPG
65.4km/h y = 00023 + 0.259x + 145.7436
64.7km/h y = 264.4900 + 2879.7277/x
=3 73
64.7km/h y = 1.3266x + 201.4001
%\_@ -0.5049
64.7km/h y = 4317.2386x
73
A 64.7km/h y = 0.1829x° - 29.8145x + 1670.8962
Bl 64.7km/h y = 5011.6276x 05
CNG
64.7km/h y = 0.1122¢° - 17.5798x + 1141.5327
AW | CNG y = 5054.5880x >4
64.7km/h y = 5727.0583x %%
A | CNG
64.7km/h y = 0.1122x% - 17.5798x + 1141.5327
65.4km/h y = 1250.4831x 4%
Bl 78t
65.4km/h y = 0.0202¢° - 2.9530x + 258.3205
64.7km/h y = 1385.8860x *4%
=3 73
64.7km/h y = 1.6720x + 141.2224
3 75 y = 3351.2802x 0407




@ CH, Wi=A< : 2374

np - _ CH, vl &A%
(y: ¥Wil&=(g/km), x: X}<(km/h)
3 H = -0.0001 + 0.0448/x
%K
LPG y = 0.0114x %™
kg |y = -0.0003 + 0.0341/x
23 73 y = 0.0015 + 0.2136/x
LPG = -0.0004 + 0.0462/x
3;-4 % ‘PF y - 0 1204X—1.1138
R 75 y = 0.1644x715%
=3
LPG y = 0.1805x %
HEV = -0.0010 + 0.1519/x
g |y = -0.00003 + 0.0758/x
A5 y = 0.0046 + 0.2333/x
1A3b ) &
T25S LPG y = 0,061
2371)
HEV y = 0.0668x 4%
S y = 0.0455x 0%
B
LPG y = 0.0704x 87
=3 S y = 0.6210x0%%
%@' 2 A‘” 751 '(lgr y = 0.43455(_0'9658
el CNG |y = 50523057
o 3
AU CNG y = 56.0080x 7
A A CNG y = 53.0482x 0722
23 73 y = -0.0013 + 0.1734/x
& =3 A5 y = (.5699x 5%
Rk AR |y = 03408




@ N,O viZ=A 4 : 2370

. = _ N:O Hl &A=
(y: ¥Wil&=(g/km), x: X}<(km/h)
3 y = 0.0001 + 0.0739/x
%R
LPG y = -0.0001 + 0.0217/x
ke |y = 0.159%6x %
Ay A y = 0.0030 + 0.1311/x
LPG |y = 0,0189x°%
kg |y = 0.0880x 1"
=& 7 y = 0.0007 + 0.1256/x
=3
LPG |y = 0044451
HEV = -0.0001 + 0.0914/x
3 y = 0.0001 + 0.0587/x
A% |y = 01310
1A3D o
Tess LPG |y = 0.0694xM0"
(2370)
HEV y = 0.1769x 1%
7 y = 0.0028 + 0.1269/x
B
LPG y = 0.1053x %%
=3 7 y = 0.0043 + 0.0907/x
=% A A Chu y = 0.0265 + 0.4362/x
e CNG |y = 10599071
o 3
A CNG y = 0.2641x 8%
A CNG y = 1.5910x 41"
e R y = 0.3417x M1
3z %3 A |y = 01206007
o3 73+ y = 0.0346 + 0.8961/x




o A EASE)

W &A=
2E %2
A5 Al a4k =9
COeq. W ZA % 0.4434 t COseq/MWh
CO, Wl &A% 0.4403 t COJ/MWh
k!
CH, W &A% 0.0116 kg CH,/MWh
ZFA ) 22 N.O wj&A 4 0.0093 kg No,O/MWh
(87H) COeq. HIZA % 0.4781 t CO.eq/MWh
CO, Bl &A% 0.4747 t CO//MWh
Mgk
CH, W} ZA < 0.0125 kg CHJ/MWh
N,O Hl ZA < 0.0100 kg N;O/MWh
¥ O|MEIEFA BHAME(COxq)HlEA T = 370 A TIA(CO,, CHy NO)E X 2SR =(GWP)E & 23510 &Hatst Al

AFFA Eof . 67
O FEHAUABAL LE G
H| S A 4=
L &)=
A Al ag% @9
4858 FAE 2.8260
718} F<AE(PCD 2.9074
2C1 A3 3.1721
e A B CO, vl =A<+ t COoft
671 FA2~27F2~(COG) 1.5285
12 7FBFG) 0.6869
gto|dl ~7} A~(FOG) 1.0029




Y EoF : 47

O WAH F-E(47)

v S A 5=
RE 3=
Al Al 53k 9
FAHE B 2(0.5-1.0%/ha) A& 0.92
@l | FaE HR0-305ha) Ae | AT 0.78
F22 H 2(3.0-4.0E/ha) A& 0.69
EX|o]-&, EXo] &3}l g A (LULUCF) &oF : 471
O &73A F-E(47M)
| ZA) 4
nE 3=
A Al =%k 39
LACHEA HEE) 34
5B HAC( &4 HEE) CO, 39
74 A s - 3 t C/ha
471 Sandy(AH &) A% 24
Volcanic(3}4+3] &) 127




H 715 Fof 471

0 & -dFHE FEA)

v &4 5
ry =
Al A%k e
6.B A =5 2 0.02245 kg CH4/kg BOD
3 2= g CHy Wi =A<+
270 A=SIE) 0.00779 kg CH4/kg BOD
O 7| E47Z FE(270)
vl &4 5
e i
A A3k 125,
6.C CH, v} &A1 4 18.0 g CHy/ton
7| 47} strsd A
@7 NoO v &A= 449.1 g N,O/ton




